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R=1080m

R=470m

R=474m

R=330m

R=609,803m

R=580mR=435m

R=184m

R=625m

R=15000m

R=15004m
R=2000m

R=613,803m
R=188m

R=1084m

R=2004m

R=474m

R=621m

R=470m

R=431m

R=576m

R=326m

R=572m

R=576m

R=461m

R=465m

V=30km/h; D=0mm; I=18mm; alfas=3,0258; do=32,415m

n=10,00V; Lk=0,000m; T=16,211m;

n=10,00V; Lk=0,000m; T=16,211m;

V=30km/h; D=0mm; I=18mm; alfas=3,0258; do=32,204m

n=10,00V; Lk=0,000m; T=16,106m;

n=10,00V; Lk=0,000m; T=16,106m;

V=30km/h; D=0mm; I=33mm; alfas=5,3672; do=17,413m

n=10,00V; Lk=0,000m; T=15,932m;

n=10,00V; Lk=27,000m; A=137; m=0,043m; T=15,005m; mezilehlá klotoida

V=60km/h; D=45mm; I=23mm; alfas=5,2709; do=27,997m

n=10,00V; Lk=32,000m; A=251; m=0,022m; T=28,769m; mezilehlá klotoida

n=10,00V; Lk=27,000m; A=137; m=0,043m; T=28,769m; mezilehlá klotoida

V=60km/h; D=45mm; I=45mm; alfas=13,9301; do=89,242m

n=10,00V; Lk=32,000m; A=251; m=0,022m; T=57,819m; mezilehlá klotoida

n=10,00V; Lk=20,000m; A=325; m=0,003m; T=57,997m; mezilehlá klotoida
V=60km/h; D=45mm; I=53mm; alfas=4,7480; do=16,047m n=10,00V;Lk=20,000m; A=325; m=0,003m; T=18,112m; mezilehlá klotoidan=10,00V; Lk=20,000m; A=187; m=0,010m; T=17,957m; mezilehlá klotoida

V=60km/h; D=45mm; I=29mm; alfas=9,5901; do=73,580m

n=10,00V; Lk=27,000m; A=125; m=0,052m; T=61,843m; klotoida

n=10,00V; Lk=20,000m; A=187; m=0,010m; T=48,968m; mezilehlá klotoida

V=50km/h; D=71mm; I=90mm; alfas=23,6137; do=46,333mn=8,17V; Lk=29,000m; A=73; m=0,190m; T=53,033m; klotoidan=8,45V; Lk=30,000m; A=74; m=0,204m; T=53,469m; klotoida

V=80km/h; D=35mm; I=35mm; alfas=9,6678; do=143,233m

n=10,00V; Lk=28,000m; A=174; m=0,030m; T=105,420m; klotoida

n=208,33V; Lk=50,000m; A=343; m=0,044m; T=91,253m; mezilehlá klotoida

V=80km/h; D=38mm; I=0mm; alfas=1,7458; do=19,940m

n=10,53V; Lk=32,000m; A=253; m=0,021m; T=45,772m; klotoida

n=208,33V; Lk=50,000m; A=343; m=0,044m; T=31,172m; mezilehlá klotoida

V=50km/h; D=0mm; I=64mm; alfas=15,2673; do=82,876m

n=10,04V; Lk=51,422m; A=155; m=0,237m; T=87,224m; klotoida

n=23,57V; Lk=30,638m; A=272; m=0,016m; T=63,162m; mezilehlá klotoida

V=50km/h; D=26mm; I=26mm; alfas=6,4443; do=41,940m

n=11,58V; Lk=15,052m; A=93; m=0,016m; T=39,808m; klotoida

n=10,08V; Lk=30,638m; A=272; m=0,016m; T=32,573m; mezilehlá klotoida

V=50km/h; D=0mm; I=63mm; alfas=6,7358; do=40,159m
n=10,00V; Lk=15,566m; A=86; m=0,021m; T=35,678m; klotoida
n=10,00V; Lk=15,566m; A=86; m=0,021m; T=35,678m; klotoida

V=80km/h; D=0mm; I=6mm; alfas=0,1028; do=26,914m
n=10,00V; Lk=0,000m; T=13,457m;
n=10,00V; Lk=0,000m; T=13,457m;

V=80km/h; D=0mm; I=6mm; alfas=0,1028; do=26,907m
n=10,00V; Lk=0,000m; T=13,453m;
n=10,00V; Lk=0,000m; T=13,453m;

V=50km/h; D=0mm; I=63mm; alfas=6,7358; do=39,754m
n=10,00V; Lk=15,500m; A=85; m=0,021m; T=35,410m; klotoida
n=10,00V; Lk=15,500m; A=85; m=0,021m; T=35,410m; klotoida

V=50km/h; D=26mm; I=26mm; alfas=6,4443; do=41,635m
n=11,54V; Lk=15,000m; A=93; m=0,016m; T=39,556m; klotoida

n=10,00V; Lk=30,400m; A=269; m=0,016m; T=32,348m; mezilehlá klotoida

V=50km/h; D=0mm; I=64mm; alfas=15,2673; do=82,040m

n=51,20V; Lk=51,200m; A=154; m=0,237m; T=86,577m; klotoida

n=30,40V; Lk=30,400m; A=269; m=0,016m; T=62,626m; mezilehlá klotoida

V=80km/h; D=35mm; I=35mm; alfas=9,6678; do=143,811m

n=10,02V; Lk=28,052m; A=174; m=0,030m; T=105,784m; klotoida

n=208,93V; Lk=50,143m; A=344; m=0,044m; T=91,591m; mezilehlá klotoida

V=80km/h; D=38mm; I=0mm; alfas=1,7458; do=19,974m

n=10,54V; Lk=32,032m; A=253; m=0,021m; T=45,849m; klotoida

n=208,93V; Lk=50,143m; A=344; m=0,044m; T=31,233m; mezilehlá klotoida

V=50km/h; D=71mm; I=86mm; alfas=23,6137; do=47,663mn=8,26V; Lk=29,313m; A=74; m=0,190m; T=54,026m; klotoidan=8,54V; Lk=30,324m; A=76; m=0,204m; T=54,467m; klotoida

V=60km/h; D=45mm; I=29mm; alfas=9,5901; do=73,037m

n=9,97V; Lk=26,907m; A=124; m=0,052m; T=61,461m; klotoida

n=10,00V; Lk=19,839m; A=184; m=0,010m; T=48,632m; mezilehlá klotoida

V=60km/h; D=45mm; I=54mm; alfas=4,7480; do=15,884mn=10,00V; Lk=19,824m; A=321; m=0,003m; T=17,946m; mezilehlá klotoida
n=10,00V; Lk=19,839m; A=184; m=0,010m; T=17,791m; mezilehlá klotoida

V=60km/h; D=45mm; I=46mm; alfas=13,9301; do=88,476m

n=10,00V; Lk=31,763m; A=248; m=0,022m; T=57,330m; mezilehlá klotoida

n=10,00V; Lk=19,824m; A=321; m=0,003m; T=57,508m; mezilehlá klotoida

V=60km/h; D=45mm; I=24mm; alfas=5,2709; do=27,873m

n=9,91V; Lk=26,750m; A=135; m=0,043m; T=28,585m; mezilehlá klotoida

n=10,00V; Lk=31,763m; A=248; m=0,022m; T=28,585m; mezilehlá klotoida

V=30km/h; D=0mm; I=33mm; alfas=5,3672; do=17,163m

n=10,00V; Lk=0,000m; T=15,745m;

n=9,91V; Lk=26,750m; A=135; m=0,043m; T=14,818m; mezilehlá klotoida
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